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A= 2x(x2—3x+1)
A=2xxx2—2xx 3+ 2x x1
A=2x3—6x2+2x

B=(2-x)(3x+]1)
B=2xx+2x1-xx3x—xx1

B=2x+2—3x2—x
B:—3x2+x+2
C=—4x(3—x)—(x+D(2x+3)
C=—4xx3+4xx x—(xx2x+xx3+1x2x+1x3)

C=—12x+4x° —(2x°+3x+2x+3)
C =—12x+4x2—2x2—3x— 2x—3
C=2x°—17x-3

D=(2—x)(3x+1)—(3+2x)(1+3x)
D=(3x+D)[ (2-x)—(3+2x) |
D=(3x+1)(2—x—3-3x)
D=(3x+1)(-4x-1)
E=—x+2+3x+1)(x—-2)
E=—(x-2)+3x+])(x-2)
E=(x—2)[~1+(3x+1)]
E=(x-2)(-1+3x+])

E=3x(x—2)
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(@-b)a+b)=a® —b° (1-b) 2= a® —2ab +b° (a+b) °=a® +2ab +b?
Z =1-7x)(1+7x) Y=(3x—5)2 X=(2x+3)2
712 (7x)? 2 2 2 2 |3
= X X=(3%)+2%3cx5+5% | X=(2x)+2x2xx3+3° | 4
2
Z=1-49x X =9x%+30x+25 X=4x%+12x+9
Z’:l_ng Y’:4x2—28xy+49y2 X' =25x2+10x+1
A

Z'=(;—3x)(;+3x)

Y'=(2x)2—2x2xxT+72
Y'=(2x—7)2

X'=(5x) 2+ 2x5xx1412
X'=(5x+1)2
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A=9x2 + 30xy + 25y2
B= (xy)2 —3x2y +3xy2
C = 25x2 - 49y2
D=1+9x2 +6x
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E=-9+x2
F=25-(2x+1)
G =9x2 — 25,2

2




5200 npna llninll agal sualag]
sl ailil J4il
- pe=———

o 2,323 3
|2 5|2 5

c=(—l5+x2)2
d =(3x+5)(3-2x)

e=(3-5)2(x +1)
g=-2(x+1)(x-1

PEE A e
A=(2v-3% +(x-3)(2¢-3)
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P; . A(x)=(3x—7)(1-6x)—(3x-7)
x=(-2) @A wal . A(x) d=
A(x) &
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A=4—x2 +(3x+2)(x+2)
B=16-40y+25y2— (4+5y)(1+ y)
C=(5- Zx)2 —4x2
Dzl—x4+(1+ x2)




